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Worksheet 30: Mass Stoichiometry 
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6. In the decomposition of sodium chlorate, 3 I. 7 g of 02 are formed. How many grams of sodium 

I. How many grams of hydrochloric acid are required to react completely with 61.8 grams of calcium 
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2. How many grams ofNHJ are n~ ed wh:n 2 6 grams ofCr(NQ3)3 react according to this synthesis 
reaction: sf:.s 
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The action of carbon monoxide on iron(III) oxide can be represented by the equation 

.J, 2 Cr(NO3)3 ~ HJ ~ Cr(NH3)6(NO3)3 

;2. I: ~_c_,{1W .3 \ .,..,\ c.~o ") ~ t{j--1 
U i '3 3't:,03r!J.(J, 

3. Glucose is used as a source o energy ~ he hu n body. Calculate the number of grams of oxygen 
needed to combine with 12.5 of glucose. ( r. u O t-- Lo ~ ~ (2 {) + (.. \4 'O 
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4. Assume that in the decomposit~ ofpotassium chlorate, KCIOJ, 80.5 g ofO2 form. How many grams 
of potassium chloride, the other product would be formed? 

b k.C-10:3 ~_!:kCI +.l.u7.. 

'6b, <;~ 01- ~\v'- ~teD~l2Mtll<Ci \ 11.f, ~\:. 
' h-4 i'-' -S ...._Jl 02- ~ v'li,I l 

)i25.~ Kell 
5. The compound cisplatin PtCli(NH3)2, has been found to be effective in treating some types of cancer. 

A typical dose can be between 20 - 600 mg at a cost of up to$ I 00 per gram. It can be synthesized 
using the following reaction. 

I K2PtCl4 +} NHJ ---~ 2 KCI + \ PtC'2(NH3)i 

\ Fe2O3(s) + ~ CO(g) ~ 2.Fe(s) + 3co2(g) 

What is the minimum amount of carbon monoxide used if 57.5 grams of iron were produced? 
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8. Claude-Louis Berthollet first prepared ethyne (acetylene) by sparking carbon electrodes in hydrogen 
gas. 

2 C + l H2 ~ \ C2H2 

How many grams of carbon electrode will be consumed when 59.8 grams of acetylene are produced? 
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9. In space vehicles, air purification for the crew is partly accomplished with the use of lithium peroxide, 
LiiO2. It reacts with waste CO2 in the air according to the reaction 

L Li2O2 + l CO2 7 2,Li2C03 + l 02 

How many grams ofoxygen are released by the reaction of0.905 g of carbon dioxide? 
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